Al = 0 & Al Al A
20239 =& 1 3| Let3|H sSM
A =S
M SESX J|BEs(sudsd/ s - &)
SR HArze (Crol: XM 2l)
2A -3 - A(FH) - HIRA - BEZ Ofl &toH J &3 N HuwsZ
S 34,221,230 28,962,952 5,258,278
= 764,120 765,120 A1,000
ras 3,240,000 3,240,000 0
[ 6,598,316 5,840,785 757,531
Al 20,078,794 16,979,047 3,099,747
CH 3,500,000 2,088,000 1,412,000
=S 40,000 50,000 210,000
sESX J|EE (sl s - &) 25,529,099 20,238,572 5,290,527
= 719,120 725,120 26,000
ras 980,000 980,000 0
[ 6,461,016 5,703,485 757,531
Al 13,868,963 10,741,967 3,126,996
CH 3,500,000 2,088,000 1,412,000
HArel 143,615 121,717 21,898
A Y Xtk 143,615 121,717 21,898
201 LBtAY| 113,615 121,717 8,102
01 AtR2telt| 17,666 19,628 1,962
OFAL 22IES F(MAEZ) 8,640 9,600 2960
—S2IMAH AAE 9,000 +3E+ 122 324 360 A36
—HISHZER AAE 9,000 +3E+ 122 324 360 A36
—EHAEE A 18,000*55+128 1,080 1,200 A120
—SIEA 2A2ES
ZY 18,0002+8HLx 128 1,728 1,920 A192
—3tEX AN 27 000 +8IHA+122 2,592 2,880 A288
—SHEES AN 27 000 +8IHA+122 2,592 2,880 N288
Osgllsde SII3EI| UM (0AEZ)
XN 99,000 *36CH 3,564 3,960 A396
OF AN HIHl X2 (0lAHEZ)
3 16,2002%23CH+ 122 4,472 4,968 TANLSS
O32% 22X TI=dI(oflarE)
2 90,000&*11H 990 1,100 A110
02 S=2Z| 95,949 102,089 A6, 140
ORIk etd] (23CH) 41,528 42,528 A1,000
—8900(A 832, ER)
2 1,500,000 *1CH 1,500 2,500 A1,000
ozgxe I8
2 30,0002 %23CH 690 630 60
ONXEZ SIS P L SH0IIHA S
2 100,000 +23CH 2,300 2,100 200
OFAI &5 AN 450,000%123] 5,400 10,800 25,400
401 AIEHIZL 20| 20,000 0 20,000
01 AI&HI 20,000 0 20,000
Os2|=HE AIRA 2I22d SA
20,000,000 x14! 20,000 20,000
405 XHoHESHI 10,000 10,000




2A sHEM
M SESX J|BEs(sudsd/ s - &)
o2 A2 (Crol: XM 2l)
SA - FH . C(32) - MISAY - BAS IR )5 o ClImE=rT}
MU SEFSHI 10,000 0 10,000
D |sHEH AIRA JHHIR 2
10,000,000 x 14! 10,000 0 10,000
19,089,071 15,229,574 3,859,497
= 537,200 543,200 26,000
= 980,000 980,000 0
< 4,884,806 4,127,275 757,531
Al 12,687,065 9,579,099 3,107,966
TRANEHRFA 13,500 13,500 0
203 JF =8| 13,500 13,500 0
03 AIBZ=RHRFAIH| 13,500 13,500 0
OFQAIE SIAIEFRI(HlArE )
AA 3,600,000 3,600 4,000 2400
Osgllsig d2F(0laEZ)
AA™ 2,700,000 2,700 3,000 A300
O=g8® ARFEX(HlarEZ)
ZA 2,250,000 2,250 2,500 A250
OrlstE=y JRFE(0AEZ)
23 900,000 900 1,000 A100
OfRsSAd geFx 1,350,000 %1 A! 1,350 0 1,350
OF4 JRFT(0 A=)
Z2& 900,000 900 1,000 A100
OsEXNETHE ARFX(0aE2)
ZA 900,0002 900 1,000 A100
OJl&he dF(olaEZ)
23 900,000 900 1,000 A100
st DAS FH 245,094 246,572 1,478
201 et 3| 26,502 27,692 21,190
01 AtR2elt] 10,710 11,900 21,190
OsBAIH E82 M (0arE2)
A 2,7002*8008 2,160 2,400 AN240
OAEEE S48 M (oA
Y 54,0002 *40& 2,160 2,400 A240
OR+=S42 EE8 28 2 (0AEZ)
A 22 500%100H 2,250 2,500 A250
Osg=sZE L ASAY FMYOIg| HaxH
(OlarE) AR 70,0002 *9H*33] 1,890 2,100 ~210
O=sEARZAIAAL DI HE(HAEZ)
B 22,5002 %1002+ 13 2,250 2,500 £250
301 Let2dE= 2,592 2,880 A288
11 HALAHIXIRZ 2,592 2,880 A288
Osgol e 2 35 =AX oul(oflarE)
AN 81,0002 *4H*63] 1,944 2,160 A216
Osg3d s 2 298 LT SA(HMEZ)
43X 8,0002*81%*13] 648 720 AT2
ARsTSHA 7,200 8,000 A800




2A sHEM
M SESX J|BEs(sudsd/ s - &)
Rl SO CEEE)
SA -2 - SA(3) - MRAY - BHAS Oif o JE N Hlws2
201 LEt23H| 5,580 6,200 2620
03 A2 5,580 6,200 2620
Oxp=sg9s4 A3E A (0AEZ) 4,680 5,200 2520
—f3s 85 7L
18 450,000 %23] 900 1,000 A100
—H{3E S0 2 W KOl
A 450,0002 %23 900 1,000 A100
—=0lg dZZA=
A 360,000 %423 %23| 2,880 3,200 A320
OXlgsdsd WSl M (oAEZ)
BE 4,500 %1003 900 1,000 A100
301 LHEESF 1,620 1,800 A180
11 #AIAHIXIRAZ 1,620 1,800 A180
OXR=sZLHARS] 2H3|9] A AlCH
(ol arE 2 AR 7. 2002 *45H+53] 1,620 1,800 A180
(D) sEREUHIS XA 64,000 76,000 A12,000
= 32,000 38,000 6,000
== 9,600 11,400 21,800
Al 22,400 26,600 24,200
307 212t01™ 64,000 76,000 212,000
= 32,000 38,000 6,000
== 9,600 11,400 21,800
Al 22,400 26,600 24,200
02 QIRHEAAEE R 64,000 76,000 212,000
OsEReiHy 29X
23 64,000,0002 64,000 76,000 A12,000
= 32,000 38,000 6,000
== 9,600 11,400 21,800
Al 22,400 26,600 24,200
(D)=sHESMMllBEE= 8,655,862 5,635,795 3,020,067
= 2,176,331 1,417,000 759,331
Al 6,479,531 4,218,795 2,260,736
307 212t01& 8,655,862 5,635,795 3,020,067
== 2,176,331 1,417,000 759,331
Al 6,479,531 4,218,795 2,260,736
05 RIZIREZ 8,655,862 5,635,795 3,020,067
Os&2 Molgegz X
23X 8,655,862,000 8,655,862 5,635,795 3,020,067
< 2,176,331 1,417,000 759,331
Al 6,479,531 4,218,795 2,260,736
SASE A 28,358 24,620 3,738
201 LAY 10,008 11,120 A1, 112
01 AtR2elt] 10,008 11,120 A1, 112
OZASE MREE S F(HAEZ) 10,008 11,120 A1 112




2AX:
X{XH -
o e

chel:

2A -3 - A(FH) - HIRA - BEZ Ofl &toH J &3 N HuwsZ
—SARE O] JI0IES AR
FE 9,000 %250 213 2,250 2,500 £250
—TAISY 243X S MR
ZE 108,0002+62i+13] 648 720 AT2
—CAISE ZAMU BA MR ¥ P
AA 27,0002 %2501*13] 6,750 7,500 AT50
—CAISg B2 340 1Y
33X 360,0002%13] 360 400 240
301 Let2&3 2,350 2,500 A150
11 HALRHIXIR S 1,350 1,500 A150
O A& OfEA BT Chk 2 (M=)
FE 3,0002 %450 %13 1,350 1,500 A150
401 Al&HIZ 20| 12,000 7,000 5,000
01 Al&H| 12,000 7,000 5,000
OZAIHE A EHI 5,000,000 %1 A! 5,000 0 5,000
(2)sE NEHEHAXAAY 2,250,000 1,400,000 850,000
= 980,000 980,000 0
Al 1,270,000 420,000 850,000
307 QI2H0| M 1,348,000 1,400,000 A52,000
s 943,600 980,000 236,400
Al 404,400 420,000 A15,600
05 PIZIRIE= 1,348,000 1,400,000 A52,000
OsZE NEHEEHAAY 29H|(U=3H:
"AEHI"Z) X 1,348,000,000 1,348,000 1,400,000 52,000
ras 943,600 980,000 236,400
Al 404,400 420,000 215,600
401 AEBIZL 20| 902,000 0 902,000
= 36,400 0 36,400
Al 865,600 0 865,600
01 Al&H| 902,000 0 902,000
OEX & A= el 902,000 0 902,000
—20224 AMEEZHA AIZ(ESH THAHAY
850,000,000 *1A! 850,000 0 850,000
—sS& NMEHEEAAMNY AMAH(USHA:
"DIZERIEFZ2 O A ) 52,000,000 %14l 52,000 0 52,000
= 36,400 0 36,400
Al 15,600 0 15,600
SE NEEZHA KM 72,410 72,440 A30
201 Br23H| 270 300 A30
01 AtR2t2lt| 270 300 A30
OsE AEEEHAAY A OHNHESE 7Y
(OlarE) AR 135,000+ 270 300 A30
AW Q= =g d20E §4 207,675 208,190 A515
SgolssEEANFAS 207,675 208,190 2515
201 L2 3| 3,240 3,440 A200
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2AX:
T ZH -
o e

chel:

2A -3 - A(FH) - HIRA - BEZ Ofl hHOH J &3 N Hus2
O0d=gol M= - T2 2N J|Zus
A0l AR )
A 90,00024*27H*13] 2,430 2,700 A270
O =0l M= - TG =4 oHI(MIAHEZ)
A 90,00024*36H*13] 3,240 3,600 A360
=039 §8X 2A2ISY 18,250 19,500 AT,250
301 LBHEX S 4,050 4,500 A450
11 SHAIAHIXIR S 4,050 4,500 A450
OS2 4 HZDNS OHI(0AHEZ)
ZE 90,0002 %452*13] 4,050 4,500 2450
307 Q120 & 14,200 15,000 2800
04 CIZHHAIAI B X 7,200 8,000 2800
OXGsAE AHISX HAHBES 80%) (Ol AHEZ)
AA 4,500,0002! *15/%80% 3,600 4,000 2400
O=S4A2 22 L ZHHEE 22 (EXES 80%)
(OllArERE)
2 4,500,000 * 15/ %80% 3,600 4,000 A400
SOIO| ALK R 36,000 40,000 A4,000
307 QI2H0| & 36,000 40,000 A4,000
04 DIZFHAIAIR B X 36,000 40,000 A4,000
Osgololy SAIKIZ (XS 90%) (0larE2)
23X 36,000,0002 36,000 40,000 24,000
S OICH| BHEHEHONE B AL 18,000 20,000 2,000
307 12| & 18,000 20,000 2,000
04 QIZHHAIAI B X 18,000 20,000 2,000
Os2FHQ! IIESISAL XIA(2XS 80%)
(GlarE2) AR 22,500,000 * 15/ *80% 18,000 20,000 22,000
MBS sAEATAMEY 222 207,841 212,819 A4,978
201 LB A 118,690 122,548 A3,858
01 AF222IHI 19,602 21,780 A2,178
OBk (M AR ) 15,930 17,700 A1,770
—eF WUSM DM M
A 9,000 +752+2E 1,350 1,500 A150
— WM HOAL ARS 7
2 72,0002 %102 720 800 A80
—NKES QI
2 2,2502%402+153] 1,350 1,500 A150
—As - HE HAB TARY
2 45,0002 %10A 450 500 A50
—F=243 74 A 36,000%50H 180 200 A20
— NS s BT AE
BH 9,000 *20%*43] 720 800 A80
—ZIMIE SHOIX 22l8]
3 270,000 %12 3,240 3,600 360
== 22ly|
AA 27,0002%1104x 122 3,564 3,960 A396




2AX:
T ZH -
o e

chel:

2A -3 - A(FH) - HIRA - BEZ Ofl &toH J &3 N HuwsZ
—HUXAHE CHY clE2S M
A 45022, 0008 900 1,000 A100
—SEYURE Hs S 22 A
23 54,000&*10& 540 600 260
AT Y 2EFY
2 9000855122 540 600 280
—StEA 22| EE
2E 18,0008+65+122 1,2% 1,440 Al44
—Eigh T HIE A 18,000 *207H 360 400 A0
— NS #=2ltl
ZE 72,0003 100K 720 800 A80
Otz (olarE2) 3,672 4,080 A408
—s&As L HEggsSKE Y dxtz
B 540,000 %1463 3,240 3,600 A360
—s&Ast Y MEESKE ot 28
ZE 1,8002+40E 63 432 480 A48
03 A2 FH| 15,120 16,800 1,680
OFYHH HXNHAT L MR WIEN S DI
nE T2 ) 2 (0AE2) 15,120 16,800 21,680
g2 ntE 23X 360,0002%203] 7,200 8,000 800
—100H2 ud X 1,980,000 %43 7,920 8,800 A880
301 LEEBHZ 54,280 55,400 A1,120
11 HARHIXIRZ 10,080 11,200 A1,120
OEGME SIS T2 028 EAX A (0 AR
ZA 6,3002*40H*403] 10,080 11,200 21,120
Hsol XNJMH 22 105,690 108,350 A2,660
201 LBt2dY| 1,260 1,400 A140
01 At22teld| 1,260 1,400 A140
OFsHEXNS L ARG FHA-Y
(OllaFR2) A 63,0002x5% 43| 1,260 1,400 A140
301 LEBEZ 22,430 24,950 A2,520
11 HARHIXIRZ 2,430 4,950 A2,520
OA=0 ws I OH(E, ) (HIAE2)
ZX 90,0002 *10H*13] 900 1,800 A%00
OFs0l EXEES dED|s A& OHI(0IAHEZ)
2 90,000 %7 x13) 630 1,350 AT20
OFs - AEC FXEs AKX 6UIXZ(0AEZ)
ZE 90,0003 *5H 23| 900 1,800 A900
(2)HsHERX XA 258,000 258,000 0
= 129,000 129,000 0
== 38,700 38,700 0
Al 90,300 90,300 0
307 eI2+o| & 87,000 87,000 0
= 43,500 43,500 0
== 13,050 13,050 0
Al 30,450 30,450 0




2AX:
X{XH -
o e

chel:

SA -2 - SA(3) - MRAY - BHAS Oi &roH JE N Hlws2
02 QIRHBAAHEE R 53,000 53,000 0
O0lF ARl HEZ XIE 22
23 1,000,000 %3070 A 30,000 40,000 210,000
= 15,000 20,000 25,000
== 4,500 6,000 A1,500
Al 10,500 14,000 23,500
OH=sHEARS XA
Z& 15,000,000 15,000 5,000 10,000
= 7,500 2,500 5,000
== 2,250 750 1,500
Al 5,250 1,750 3,500
(E))?‘I%?l&&' Y=EH B2R2EZL(RYLZEUS 4,955,000 3,543,000 1,412,000
12
< 1,455,000 1,455,000 0
CH 3,500,000 2,088,000 1,412,000
401 AIEBIZL S008I 4,955,000 3,543,000 1,412,000
< 1,455,000 1,455,000 0
CH 3,500,000 2,088,000 1,412,000
01 Al&l 4,955,000 3,543,000 1,412,000
OA=sHEL FEEH 232 =28
A3 4,955,000,000< 4,955,000 3,543,000 1,412,000
= 1,455,000 1,455,000 0
cH 3,500,000 2,088,000 1,412,000
SEEHG J|HES (sl =Y - &) 7,022,653 7,111,261 88,608
= 45,000 40,000 5,000
s 2,260,000 2,260,000 0
= 137,300 137,300 0
Al 4,540,353 4,623,961 283,608
= 40,000 50,000 A10,000
SESEEH| 6,994,793 7,111,261 A116,468
= 45,000 40,000 5,000
ay 2,260,000 2,260,000 0
== 137,300 137,300 0
Al 4,512,493 4,623,961 A111,468
= 40,000 50,000 10,000
SEOS SN 44,050 44,500 2450
301 Let2d= 4,050 4,500 2450
11 HARHIXIR S 4,050 4,500 2450
OXSASAUSAG (LT, A8 EDIF Gl (0 AR )
2 81,000&%50H 4,050 4,500 AN450
(2)H2H I ZMEHEZLAY 1,166,000 1,265,700 A99,700
= 886,000 886,000 0
Al 280,000 379,700 299,700
403 XIS HSXH=01H 1,166,000 1,265,700 A99,700




2AX:
PSP
e

SA -2 - SA(3) - MRAY - BHAS Oi &roH JE N Hlws2
= 886,000 886,000 0
Al 280,000 379,700 299,700
02 SIS N2 AE AL 1,166,000 1,265,700 A99,700
OEEH JIZMENHE LA
AF 1,166,000,000& 1,166,000 1,265,700 A99,700
= 886,000 886,000 0
Al 280,000 379,700 A99,700
2232 DISUHSIIAISE (HEAL) 100,000 100,000 0
403 [HXISHHMSAH=201& 100,000 100,000 0
02 SI12S0UE K2 A AL 100,000 100,000 0
=222 DISLEIIAG(RII1HE)
2E 02 0 100,000 100,000
O3232| DISUSIAIE(RI1HE)
100,000, 0002+ 14! 100,000 0 100,000
=22l OISCHEI|AI (EEAIY) 0 100,000 100,000
403 XXM SAH201& 0 100,000 100,000
02 SI1 2SO0 KN2E A AL 0 100,000 100,000
O=22| OISUHSIAI (S 2H A2
323 0 0 100,000 100,000
222 OISOHEI A (EEANY) 0 100,000 100,000
403 XHXISHHMSAH=201& 0 100,000 100,000
02 SI12S0UE N2 A AL 0 100,000 100,000
O&E22| DISUHSIIAIG(ESH A1)
2A 0 0 100,000 100,000
LiZ12] OFS2SI A (X EAL) 100,000 0 100,000
308 KtXISHMSO0I& 100,000 0 100,000
11 B 2S0CHEHE & X 2 ALY 100,000 0 100,000
OUEel DISetEIIAE
100,000,000 * 1Al 100,000 0 100,000
Aniel DISUHSIIAISE (HEALY) 100,000 0 100,000
308 RtXIHHMSO0I& 100,000 0 100,000
11 BI1 2SS B A EHLAEAIS ] 100,000 0 100,000
OA el DISeSIIA
100,000,000 * 14! 100,000 0 100,000
sEQIEXA 362,693 379,011 A16,318
201 L] 124,242 137,880 A13,638
01 At22teld| 122,742 136,380 A13,638
OQU=20IHE 22X AHe Al 2EHI(olarE2)
AX 1,960,000 1,960 3,000 A1,040
OQAZQIHE2Z A ABIAE AXZ(GIAEZ)
24X 90,0002 15| %400H 36,000 40,000 24,000
ORAZIAHE2Z N 29 FUI(PCREAN, S,
B S)(0aE>) REPS 32,382,000% 32,382 35,980 A3,598
ORUZAHE2ZN 29 =2 (0AIE2)
2 18,000,0002 18,000 20,000 A2,000




PN sZEH
M =843 J|INEE(sEigdsd/ s - 5&)
ool sEed gl (CH: & 21)
SA -2 - SA(3) - MRAY - BHAS Oif o JE N Hlws2
ORI E22d 22U X2 (HaEZ)
AX 500,000+ 1442 2,000 5,000 A3,000
301 LBEES 184,120 186,800 A2,680
11 HAIRHIXIR S 24,120 26,800 A2,680
OXtAel Xt S0l a2
ZH 8,0002*341+310 7,440 9,600 A2,160
OXEIrAel Rt Zralbl (ol Ak 2t )
HAE 2,0002%340Y 680 1,200 AB20
(2)sEESMAEHSIXS 130,000 130,000 0
= 45,000 40,000 5,000
Al 45,000 40,000 5,000
= 40,000 50,000 A10,000
307 gI2t01 & 130,000 130,000 0
= 45,000 40,000 5,000
Al 45,000 40,000 5,000
= 40,000 50,000 210,000
02 QIZHEAAIRIE X 130,000 130,000 0
OsE0ESIEH 29X
130,000,000 %1 A! 130,000 130,000 0
= 45,000 40,000 5,000
Al 45,000 40,000 5,000
= 40,000 50,000 210,000
sE0IEXJ 27,860 0 27,860
SELESIIKA 27,860 0 27,860
201 L2 3| 7,000 0 7,000
01 At=2teld| 7,000 0 7,000
Os&Edas)| 2R
7,000,000 %14l 7,000 0 7,000
206 M=l 7,000 0 7,000
01 =8l 7,000 7,000
OsEdas)| HATA(ZRINHE: &Y
S 0IA) 5,000 «7007*23] 7,000 7,000
301 LEBHZ 13,860 13,860
11 HARHIXIR S 13,860 0 13,860
OsELEs)| 20X SSHI(Z2INHE: "&I&&d
S 0IA) 13,860 0 13,860
—AI0H 8,000 %6302 <23 10,080 0 10,080
—ZtAlH| 3,000 *630H *23| 3,780 0 3,780
HY2AAH| (=S I =) (IIEHIIE 1,460,392 1,413,119 47,273
ol 2| 1,194,213 1,133,309 60,904
ol 24| 1,194,213 1,133,309 60,904
101 Q1 AH| 1,192,585 1,131,681 60,904
01 2% 507,183 446,279 60,904




A =S
A HH2AZH(SLE D) (OIEH/JIEH
el oI5 2EH| (CH: & 21)
SA - FH . C(32) - MISAY - BAS IR )5 o ClImE=rT}
OsIIZHE AIRII2R4EH(BIHEM)
A 11, 1302*x93%#38A| 2H 12 472,002 411,098 60,904
JlE23l 266, 179 279,810 13,631
JlE23l 266, 179 279,810 13,631
201 L2 3| 173,505 176,510 A3,005
01 At=22t2ld| 84,765 87,770 A3,005
OSALEX P (0laE2)
A 18,0002 %20 Ax 128 4,320 4,800 A480
OS20HAlHI(HlarE2t)
HAA 7, 200*6AIX0H* 12 10,368 11,520 1,152
Oguet=2Z (0l A=)
2 90,000 * 12 1,080 1,200 A120
O27E TATAI(0ArEZ)
AN 45,0008 %128 540 600 A60
O272 =EdI(HAHEY) 8,325 9,250 A925
—SAD| =2l(UE)
Z& 900,000 *1CH 900 1,000 A100
—H2IE =2
Z 3 90,000 *5CH*50/100 225 250 A25
—=AD| EH
2 180,0002 %53+ 1CH 900 1,000 A100
—H2IE El(SH)
B 180,000 %53 x5CH 4,500 5,000 A500
—T2IE EH(ZE)
2 180,0002 %53+ 1CH 900 1,000 A100
—PC =2l Z3 90,0002%20CH*20/ 100 360 400 A40
—JIEt ==cld| AN 45 0002122 540 600 260
OJIEH AFR22|H] (IR 2
A 4,500*20H*12L 1,080 1,200 A120
Ogxg &7 72 L ME(oaEY) 1,332 1,480 A148
—g3g 4 7L
2 90,0002%x2H 23] 360 400 A40
—&3 MNE A 27.0002%33|x 12 972 1,080 A 108
202 Ot 73,440 79,200 25,760
01 =LHOAHI 73,440 79,200 25,760
SHYMY FRFA oLI(olarEZ) 73,440 79,200 25,760
—2HHOAH] AN 51,840,000 51,840 57,600 25,760
203 LRF&| 11,034 11,500 N466
01 J|22IYRF&| 2,970 3,300 A330
OsIIsdHAR J|22HYRFTEI(HAIE2)
AA™ 2,970,000 2,970 3,300 A330
02 FRADMAGRFAIY| 4,284 4,000 284
OFJAIMHRF=XIY|
3E 4,284,000& 4,284 4,000 284
04 EN2ILRFEI 3,780 4,200 2420
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